0]

d
dsqrt{d

5} [Pb.GeV]
2

-
o
N

Ratio to ATLAS

=
o

0.5

Z (DreII Yan)

100

Splitting scale\/dﬁ0 (71<m <111 GeV)

40 4. ’
. AAéﬁ‘-.’.!!!g
=L L 0’55
s
@g n
£
"
Am
*1

B ATLAS

----- A+ Herwig++ Powheg 2.7.1 default
----- ¢ Sherpa 1.2.3 default

Rivet 3.1.10, = 400k events

>

<

mcplots.cern.ch [arXiv:1306.3436]

0 1
sqgrt{d_0} [GeV]

- ] ] | !!!!HE
- ¢ E
— A :2
~ AA, : -
— At .
N Bop ]
— A.‘ p—
L &".A'%\ .
- AAA _1
B » A .
AA’A
i * AAANEDAY Ao C ]
- ¢ ””‘ ¢ ...................... A |
L “‘ .‘y T f 05
l ||p" | : L
1 10 3



	Contents
	Page 1


